
 

 

 

（  ）組（  ）番 名前（             ） 

 

次の連立方程式を解きなさい。 

(1) {
４𝑥＋𝑦＝１０

５𝑥 −２ (３𝑥ー𝑦)＝−７
 

(2) {

４𝑥＋３𝑦＝ −１

１

２
𝑥 −

１

３
𝑦 =２

 

(3) {
   ０．２𝑥＋０．３𝑦＝ − ０．２

５𝑥＋２𝑦＝１７
  

(4) ２x＋y＝x＋３y＝５ 

 

連立方程式⑤ いろいろな連立方程式 

…① 

…② 

②より ５x－６x＋２y＝－７ 

－x＋２y＝－７…②′ 

①×２－②′ 

８x＋２y＝２０ 

－）－x＋２y＝－７ 

９x＝２７ 

x＝３ 

x＝３を①に代入すると 

１２＋y＝１０ 

y＝－２ 

 

（x，y）＝（３，－２） 

…① 

…② 

②×６   ３x－２y＝１２…②′ 

①×２＋②′×３ 

８x＋６y＝－２ 

＋）９x－６y＝３６ 

１７x＝３４ 

x＝２ 

x＝２を①に代入すると 

８＋３y＝－１ 

３y＝－９ 

               y＝－３ 

 

（x，y）＝（２，－３） 

…① 

…② 

①×１０  ２x＋３y＝－２…①′ 

①′×２－②×３ 

４x＋６y＝－４ 

－） １５x＋６y＝５１ 

－１１x＝－５５ 

x＝５ 

x＝５を②に代入すると 

２５＋２y＝１７ 

２y＝－８ 

y＝－４ 

 

（x，y）＝（５，－４） 

  ２x＋y＝５…① 

  x＋３y＝５…② 

 

①－②×２ 

  ２x＋ y＝５ 

－）２x＋６y＝１０ 

    －５y＝－５ 

           y＝１ 

y＝１を①に代入すると 

   ２x＋１＝５ 

     ２x＝４ 

      x＝２ 

   （x，y）＝（２，１） 


